	   3    +     3   = 4
x - 1      x + 1
	Find a common denominator and cross multiply

	3(x+1) + 3(x-1) = 4
   (x-1)(x+1)
	Expand brackets on the numerator and denominator

	3x + 3 + 3x - 3 = 4
       x2 - 1
	Simplify the numerator

	   6x    = 4
 x2 – 1
	Multiply both sides by (x2-1)

	6x = 4(x2-1)

	Expand the brackets on the right hand side

	6x = 4x2 - 4
	Rearrange in to quadratic form by subtracting 6x from both sides

	4x2 – 4 – 6x = 0
	Divide through by 2


	2x2 – 3x – 2 = 0
	Factorise into 2 brackets



	(2x + 1)(x – 2) = 0


	Solve both brackets =0

	2x+1=0  2x=-1   x= -½

x-2=0                 x=2
	


